Fractions Mixtes et Impropres (J)

Pour chaque fraction mixte, trouvez la fraction impropre équivalente.

4 6 1
l— = — 5— = — 9 — = —
8 8 4
4 7 3
9 — = — 7T— = — 9 — = —
9 8 8
1 4 3
10— = — 1 — = — » T -
3 8 4
2 2 5
10— = — 9 — = — 1 — = —
3 3 8
2 8 4
4 — = — 2— = — 9 — = —
9 9 5
3 4 3
5— = — 4 — = — 8 — = —
5 5 4
4 3 5
6 — = — 5— = — 10 — = —
8 8 10
1 1 4
3— = — 4 — = — 2 — = —
8 2 5
2 4 1
9 — = — 9 — = — 2— = —
6 5 2
2 1 5
6 — = — 6 — = — 7 =
3 4 8
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Fractions Mixtes et Impropres (J) Solutions

Pour chaque fraction mixte, trouvez la fraction impropre équivalente.

4 12 6 46 1 37
l— = — 5— = — 90 — =
8 8 8 8 4 4

4 85 7 63 3 75
9— = — 7T— = — 9— = —
9 9 8 8 8 8

1 31 4 12 3 11
10 — = — l— = — 2— = —
3 3 8 8 4 4

2 32 2 29 5 13
10 — = — 9 — = — ] — = —
3 3 3 3 8 8

2 38 8 26 4 49
4 — = — 2— = — 9— = —
9 9 9 9 5 5

3 28 4 24 3 35
5— = — 4 — = — 8§ — = —
5 5 5 5 4 4

4 52 3 43 5 105

6 — = — 5— = — 10 — = —
8 8 8 8 10 10

1 25 1 9 4 14
3— = — 4 — = — 2— = —
8 8 2 2 5 5

2 56 4 49 1 5

9 — = — 9 — = — ’— =
6 6 5 5 2 2

2 20 1 25 5 61
6 — = — 6 — = — 7 = _—
3 3 4 4 8 8
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